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Quiz: America’s Stone Age Ports

Directions: Select the answer that best completes the sentence.

1. Automation in ports replaces with machines.
A. workers
B. ships
C. materials
D. warehouses

2. Union leaders are against automation because they think it jobs.
A. increases
B. destroys
C. creates
D. improves

3. The video says automation could make ports
A. less safe
B. more efficient
C. harder to use
D. slower

4, "Creative destruction"” means new technology old jobs.
A. replaces
B. supports
C. ignores
D. creates

5. The main idea of the video is .
A. unions are right to demand no automation

. automation is bad for workers

B
C. automation has pros and cons
D. Efficiency isn't the most important element in jobs




Answer Key:
1. A
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